5-2
5-2 Sum & Difference Identities
sin(a + B) = sinax cos B + cosasin B
sin(ax — B) =sin cos B —cosasin B
cos(ax — ) =cosacos f+sinasin B
cos(x + ff) = cosa cos f—sinasin

tano + tan
tan(o+ fB) = P
1—tano tan B
fano — tan
tan(o — B) = P
1+tano tan B

Express the angle as a sum or difference of

2 special angles. .
135° 150

Find the exact value of:

cos105°

sin15°

tan75°
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Write as the sin, cos, or tan of an angle:

sin 50° cos 26° — cos 50°s1n 26°

c0s 50° cos 26° —sin 50°sin 26°

tan 60° — tan 45°
1 + tan 60°tan 45°

Prove the identity:

cos(x—90°) =sinx

sin(x—y)+sin(x+y)=2sinxcosy



